
Find the missing dimension of the following shapes.

15 cm

𝑙 = 𝑙𝑒𝑛𝑔𝑡ℎ

8 cm

𝑆𝐴 = 700 𝑐𝑚ଶ

4 m

ℎ

𝑆𝐴 = 326.7 𝑚ଶ = 104𝜋 𝑚ଶ

     𝑆𝐴 = 2(𝑙 × 𝑤) + 2(𝑙 × ℎ) + 2(ℎ × 𝑤)
   700 = 2(15𝑙) + 2(8𝑙) + 2(8 × 15)
   700 = 30𝑙 + 16𝑙 + 240
−240                        − 240
   460 = 46𝑙

   
460

46
⎯⎯⎯ =

46𝑙

46
⎯⎯⎯

     10 = 𝑙

       𝑙 = 10 𝑐𝑚

𝑙

15

8

8

120

120

15𝑙

15𝑙

8𝑙8𝑙 700 = 240 + 46𝑙
…

OR

      𝑆𝐴 = 2𝜋𝑟ଶ + 2𝜋𝑟ℎ
    326.7 = 2𝜋(4)ଶ + 2𝜋(4)ℎ
    326.7 = 100.53 + 25.13ℎ
−100.53 − 100.53
    26.17 = 25.13ℎ

  
226.17

25.13
⎯⎯⎯⎯⎯⎯ =

25.13ℎ

25.13
⎯⎯⎯⎯⎯⎯

             9 = ℎ

            ℎ = 9 𝑚

OR
50.27

50.27

25.13h

326.7 = 100.54 + 25.13ℎ
…

𝐴 = 𝑙 × 𝑤
𝐴 = 𝐶 × ℎ

𝐶 = 2𝜋𝑟
𝐶 = 2𝜋(4)
𝐶 = 25.13

𝐴 = 𝜋𝑟ଶ

𝐴 = 𝜋(4)ଶ

𝐴 = 50.27

𝐴 = 𝑙 × 𝑤 

ℎ

𝑆𝐴 = 104𝜋 𝑚ଶ

      𝑆𝐴 = 2𝜋𝑟ଶ + 2𝜋𝑟ℎ
104𝜋 = 2𝜋(4)ଶ + 2𝜋(4)ℎ
104𝜋

𝜋
⎯⎯⎯⎯⎯=

32𝜋

𝜋
⎯⎯⎯⎯+

8𝜋ℎ

𝜋
⎯⎯⎯⎯

   104 = 32 + 8ℎ
   −32   − 32

      
72

8
⎯⎯⎯=

8ℎ

8
⎯⎯⎯

        ℎ = 9 𝑚

OR
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